AR [ x&&5[A3400-06] B [1/15

IN— Y 1) Xk

KJLAYE SPF—181A2
(—E %#8)

MANEE
F1) HEORFTHUEER7FFTFEEPUER10FZREBLEZKAT, HMOEE
BREMSMBLEERY, HEEFOADYRIBELYEST CEEZITERBVET,
F2) I—mbh-YEMI XERA BEFAR) BADEBTHY., BLG5H5HED
HYUYFITHNITERBLET,
#5| BE£AR EEMS
2010.06.05 | FREMBESIVEMBET DRI

AN
/| 20150303 | 13 EEZE 4 DI-MEEBE
65

2016.09.05 |10 EES 1.8 L 12 HES 11,12 &7yt EICKEER
SEHES 1214HRER

10 EE S 12 385081

10 EEE 28 BAERE

/| 2021.12.14 12 EES 16 BEEE

12EHEE R2BRERE

13 EEF 5 FEM

WWEES 2L N2EFES29DHRER
B | 20221010 | o mms 51 BES 30 DR HRE
6\ | 20240717 | 4307 HETMFIOV ICHSBRER

fEA 20094 128 28H

kX£ttartvsy




[x&Z&E[A3400—06] B [ 2/15 |

/

FUJLAYE SPF—181A2 (Evhyszin

AT013904-0




KLAYE SPE—181A2 (xvmvrzsm [x&&5 [A3400—06] B [3/15 |

22| o-—F X [EE % =
1 | 002102124 | ¥¥4—X F160C 1
2 | 003133546 | A 1JLL—)L TC35468 2
3 | 002102125 | &—JL/N2P 2% F160C 1
4 | 003380412 | AFAIAIARILE M4 x12 4
5 | 003120551 | OY)>% S—55 2
6 | 002102126 | #¥57KkH/3— F160C 1
7 | 002002377 | #5/Kav V%8 174" J5A 1
8 | 002002281 | ayoL/\— 1 | 712648
9 [T Es 1| 71268
10 AY:: el 1 |[71z688
11 [ 003110583 | RFvy T2 ISTW—58 1
12 | 002102127 | v 2% F160C 1
13 | 003320612 | RTYUITEY ¢p6x12 1
14 | 003120261 | 0% S—26 2
15 | 002003507 | A (> x 7k AOYK F181A2 1
16 | 003606005 | R—JLRF1)>%4 6005—2NSE 1
17 | 003016005 | R—ILRF1)>% 600522 1
18 [ 003110250 | RFvF)>4 S—25 1
19 [ 003110471 | RFyTY2Y H—47 1
20 | 002102129 | A%)LH5— Low(long) F180C2 1
21 | 002102131 | 774+ JL¥Y 49T F180C2 1
22 | 002102132 | A%)LH5— Low F180C2 1
23 | 003110220 | RFvTYy s—22 1
24 | 002102133 | 7k % F180C2 1
25 | 002102134 | A%)LHS— Hi F180C2 2
26 | 002102136 | 774+ JL¥+ 43T F180C2 1
27 | 003110150 | RFvTY>y S—15 1
28 | 003016001 [ R—)LATF1)>% 6001Z2Z 1
29 | 003016000 | R—JLRTF1J> % 6000ZZ 2
30 | 002102137 | EhYFE=#4> 11—17T F180C2 1
31 | 002102138 | #5— F160C 1
32 | 002102139 | MIE+ A—40 2
33 | 002102140 | 7L—F F160C 2
34 | 002102141 | EE#EiR F160C 2
35 | 002102142 | A%2JL F160C 1
36 | 002102143 | AKX+ F160C 1
37 | 002003502 | vbhS— F161C 1
38 | 002100453 | Z7A>UFvk M17 1
39 | 002102145 | & TkL/3— F180C2 1
40 | 003120102 | OY>% P—10 1




RUJLAYE SPEF—181A2 (rhvrzil) | x&8&5 [A3400-06] B | 4/15 |

g2 a—~r e B B3 % =
41 | 002102146 | > 7rJL—k F180C2 1
42 | 003251510 | +FM/hMal M5%x10 2
43 | 002102147 | Z£#&/7J F180C2 1
44 | 002102148 | RFY> 4 F180C2 1
45 | 002102149 | RANTEEFRILE M5 x 25 1
46 | 002003332 | Z£&E—)L M300A2 1
47 | 003161054 | RANFTSY 1.8 1




[xZ&E[A3400-—06] B [5/15 |

AT013204-0

FUIAYE SPF—181A2 (=—4#)



FUILAYE SPF—181A2 (x—#4#) | xz2&=2 [A3400—06] & | 6/15 |

22| o-—F B A R [EE % =
1 | 002003484 | f>F—H/3— F181C2 1
2 | 003120321 | Oy % s—32 1
3 | 002102160 | R—)LRF1>% 6201LLH CM 1
4 | 002102235 | 7<FaT7H# 100V F1MT 1
5 | 002102228 | ##&7 vl vy— FIMT 1
6 | 003616000 | R—/LRF1J> % 6000—2NKE 1
7 | 002102232 | YT {F45/8—1)> 526 FIMT 1
8 | 002102229 | /NyZILTL—k FIMT 1
9 | 002102233 | #vE>fl 5x60 FIMT 2
10 | 002102234 | Z4—JLK#H 100V F1MT 1
11 | 002102227 | FE—4/\0P2Y FIMT 1
12 | 002102230 | h—AR>TS5L FIMT 148
13 [ 002102231 | RILF FvvT FIMT 2
14 F—LTL—bk 1
15 | 002003475 | Hakken—JL 35X 16 1
16 | 003380718 | AfyftARILE M6 X 100 4
17 | 003340600 | (£t ES® 25 6 4
18 | 003330600 | FEEE (i) 6 4
19 | 002003470 | SPF—181A2 Z& {1844k 1




[ xz®&E [A3400—06] B [ 7/15 |

FYJLAYE SPF—181A2(—E) (RAvFhysRE)

AT013304-1



RUJLAYE SPE—181A2(—E) (RAvFAvrzi) | x&8&5 [A3400-06] B |8/15 |

25| a—+¢ BaE-BK [EE % %
003150990 ?ik(;;’ 8120—N524—P7T1—WOTD 204 1 | No.0821051 LIFZ
1
003450944 | (o, +
002004388 | RAyFRyH A2 F161C FVHEHED 1| No.0821051 1AK%
2 002003474 | A uFRyoR Fietc b2 +
3 | 002001800 | a—K7—< 6V 1
003150339 | #74#F FVDHDF2—250B 2
003150796 | a—K 3tk 2.5 2. 8m VCT 1 | spr-181A2
° 003150801 | O—F 3 2.5 450mm 1 SPF-181A2-E
6 | 003150042 | ¥+v7 O2. OF 3
7 | 003150084 | E&EimF R2—4 3
8 | 003150026 | fF7KFS%5 3P—15A ME2542 1
9 | 003150344 | E&EiHmF N2—M4 & 1
10 | 002002292 | a—K%1)vT J5A 1
11 | 003160421 | +FWHFA4vEU LA 4 %20 2
12 | 003410406 | +FF /Ml M4 x6 #HE 1
13 | 003490401 | BE{TEES (SVth) 4 3
003230412 | +FF /Ml M4 x 12 F2 2
1 003230415 | +FF /Ml M4 x 15 (B2 2
15 | 002003472 | E—F> 2% F161C 1
16 | 003150324 | #7iH#F FVDHDF1. 25—250B 2
17 | 003160761 | +=F/ A1 FAYEUHLA 4 %20 2

CE1) FES20 R4 vFRyIRX 2 F161C (FHE)] I, HFIEEBEAHYEIN, (R4 FERYD
XA F161C (IHE) IHEBE1NDO TJL—H 3120—N524—P7T1—WO01D 20A (
)] Rt FTEEEA,



FILAYE SPF—181A2 (57 | xz2&5 | A3400—06] B | 9/15 |

AT014204-4



FUJLAYE SPF—181A2 (45 78

[x&&E[A3400-06] B [10/15]

25| a—+¢ B A R [EE % %
1 | 002002466 | ¥— 10x10x67 C493 1
5 002004464 | V52 TRk C494 B 1| No.0324021 148
002003295 | #5 TRk C493 B® 1| EERY
3 | 002003296 | &f+¥+ 10T C493 1
4 | 003606003 | R—ILAF1)>4 6003—2NSE 2
5 | 003110170 | RFvTY2Y S—17 2
6 | 002003297 | E&fti ¥~ C493 4
7 —— | #4144 4>DDKO5 K5B1010 *V 8
8 O—5— C493 *V 8
9 | 003420610 | RAIUTIEAQL (V7RZ%) M6 X 10 4
10 [ 002001010 | RSARFL—k /N 6N, M55 4
11 | 002001011 | RSAKFL—F K 6N 2
12 | 003250412 | +=FM/hal M4 x 12 4
13 | 002003299 | FL—k C493 2
14 | 003160574 | U (3%&) M8 4
15 | 003220831 | AFIAFIEAL (FE) M8x 12 4
16 | 002003303 | >+ 7k C493 2
17 | 002003300 | OY&E> C493 EDER 1
18 | 003161068 | FAAVARFEE 10. 5x22x 1 EVED 1
19 | 002003506 | ¥5>FHh/i—2 C493 FNER 1
003161305 | AANfFARILE M6 x 25 F& 6
20 003210825 == [ > (182Y) 8
21 | 003500416 | RMAIUTMAILE M4 x 16 EDER 2
22 | 002003445 | /THHR—k C493 FEVER 1
23 | 003220425 | ARANFTLERL (VRTE) M4 x25 @D 1
24 | 002003401 | /7 @I C493 *V(E® 1
. 002004465 | BXF I C493 #® 1| No.0324021 LLE
002003304 | BERF C493 &% 1| EERY
26 | 003330600 | FEEE (k) 6 2
- CL—494%x &% 1 No0.0324021 LI%
27 CL—493##R °® 1
003210850 | ARANARILE M8 x50 &) 3
28 003210845 | AAIATARILE M8 x45(£Hl) B 3
29 | 003340802 | CSHIERES 8 3
30 | 002003306 | /\>YKJLARR C493 1
31 | 002003307 | /\vKJL C493 1
32 | 003221230 | ARAAFIERRL (URIFE) M12x30 2
33 | 002003308 | ##YE C493
34 | 002003309 | 7oA YFEL C493 148
35 | 003230410 | +FF N/l M4 x 10 E2EHD No.0324021 LAP%




FILAYE SPF—181A2 (57 | xz&5 [A3400—06] B [11/15]

25| a—+¢ B A R [EE % %

36 | 002003460 | fxl£ta C593 @™ 2 | No.0324021 gz
37 | 002004509 | AwHYEY C494 FDEHD 1| No.0324021 LARE
38 | 002004511 | Y5> TFH/3— C494 EIHD 1| No.0324021 LARE
39 | 003420533 | A<Myt IERL (F5E) MEX5 SUS (EVEHR 2 | No.0324021 LUK
40 | 003280510 | m7F vk M5x 10 SUS E2E® 2 | No.0324021 LUK
41 | 002004510 | M¥ftaL v Ik C494 (FVEFD 1 | No.0324021 LARE
*1 | 002004104 | O—5—#H C493 848 | 7&8Iz#na

GE1)BEE17,. 18, 21~24FF&S 19 [U50TH/N—2 C493] ATEB 38 IH5TH/8i— C49
4) LHBEEHY FEA,

(;¥2) H#EE35~37,. 39~41138E38 [W50THh/\— C494] ATESE 19 [H52TH/"—2 C49
3] EHIEEEIEIHY FEHA,



[x&2&E[A3400-06] B [12/15]

FUIAYE SPF—181A2—E 5.7

AT014304-3



FYJLAYE SPF—181A2—E (4527 [x&2&E[A3400-06] B [13/15]

22| o-—F B A R [EE % =
1 | 002002466 | ¥— 10x10x67 C493 1
) 002004464 | Y5 TARIK C494 F® 1
002003295 | #5> TRk C493 A% 1| EERY
3 | 002003289 | 7w 2 C493E 1
4 | 002001820 | FL—F BHENHEYLHE 6V 1
5 | 002003288 | E4{F¥+ 10T C493E 1
6 | 002000938 | 7v~ (N) EH26 2
7 | 002002830 | ARAIMIARILE M6Xx20 K54 4
8 | 003606003 [ R—)LRFI)>S 6003—2NSE 1
9 | 003110170 | RFvTY2Y S—17 1
10 | 002003297 | &t ¥k C493 4
11 —— | #44%4>DDKO5 K5B1010 *" 8
12 —— | B—5— C493 *V 8
13 [ 003420610 | AANRSFFIERL (U7RS5E) M6X 10 4
14 | 002001010 | RSAKRFL—F /v 6N, M55 4
15 | 002001011 | RSARFL—F KX 6N 2
16 | 003250412 | +FM/Mal M4 x12 4
17 | 002003299 | 7L —k C493 2
18 | 003160574 | UF vk (3%&) M8 4
19 | 003220831 | AFENFIEARL(FFE) M8x 12 4
20 | 002003303 | v+ 7k C493 2
21 | 002003300 | OY&EY C493 ENED 1
22 | 003161068 | /A AT FES 10. 5x22x 1 EDIER 1
23 | 002003506 | Y5> FH/i—2 C493 EVER 1
003161305 | ARFAIAFARILE M6 x 25 FE 6
2 003210625 | FRAFUFFH—MEx25 7% 8
25 | 003500416 | RMAIUTMAILE M4 x 16 EDER 2
26 | 002003445 | /THHR—k C493 FEVER 1
27 | 003220425 | RAN{FTEFQL (URIE) M4 x25 EDIED 1
28 | 002003401 | /7 @I C493 VAR 1
002004465 | lRF I C493 H% 1
29 002003304 | ExF C493 B® 1 | EERY
30 | 003330600 | FEE (k) 6 2
31 —— | CL—4948tk #® 1
— | CL—493##k ¥ 1
32 003210850 | A ARILE M8 x50 F&) 3
003210845 | AAIAFTHRILE M8 x 45 (£Hl) B 3
33 | 003340802 | CSHIEES 8 3
34 | 002003306 | /\UFJLRR C493 1
35 | 002003307 | /\vKJL C493 1




FYJLAYE SPF—181A2—E (4527 [x&2&E[A3400—06] B [14/15]

#S5| 3—F R L [EE =
36 | 002003310 | RF1)>% C493E 9
37 | 003221230 | AFEIRAFIERL (U7RTE) M12%x30 2
38 | 002003308 | #EYE C493 2
39 | 002003309 | oAV FEL C493 1
40 | 003230410 | +FF /ML M4 x 10 E2EHD 4
41 | 002003460 | fRI£ta C593 EVEHD "
42 | 002004509 | AYHEL C494 2 ]
43 | 002004511 | #5>FHh/n— CA94 EVEHD) ]
44 | 003420533 | AATYTIERL (Fk) M5 X5 SUS (E2@D 9
45 | 003280510 | H+ vk M5x10 SUS (¥2@® 5
46 | 002004510 | AR L v I C494 EVER 1
%1 | 002004104 | O—5—48 C493 S48 | 11212 42

GE1) BS21, 22, 25~28(F&FS23 [H507h/3—2 C493] ATEE 43 1950 TH/3— C49
4] EEBMEEHY FEE A,

G¥2) ZBEA40~42, 44~46(5FEE43 [950TH/N— C494) ATEE 23 [450TH/A—2 C49
3] LHEEEEEEHY FEA,



KJJLAYE SPF—181A2 (EtHES)

[x&&E[A3400-—06] B [15/15]

©

®

®

/\

5

)

AI014404-1

22| a-—+¢ R [EE: % =
1 | 003160583 | FOX/%# 36mm N 2

2 | 003160110 | AHRL2F 17 x21mm 1

3 | 003160087 | RFAELVF 4mm 1

4 | 002003659 | EHEI—F# F181A2E 1 | xc79 cE0a)
5 | 002003799 | TE% t0. 3x125%x400 1

XEDEBREFAED/ A~V 2 FETE LS



